——

Question 1

A) In an election, candidate A got 75% of the total valid votes, 1f 15% of the
total votes were declared invalid and the total numbers of votes is 560000, find
the number of valid vote polled in favor of candidate. ()

B) A crow travels 5km due North, 3km due West. 14km due North and 2km
towards South East. How far is crow from starting position? (5)

C) The sum of two numbers is 48. If the smaller number is one fifth of the
larger number, find the two numbers. (5)

D) If a quantity is divided in the ratio 5:7, the larger part is 84. Find the
quantity. (5)
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